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#include <iostream>
#include <string>
#include <vector>
using namespace std;
class Pattern {
public:
Pattern(string data) { this->data = data; }
void split(string symbol) {
int start = 0, stop = 0;
stop = data.find(symbol);
while (stop = string::npos) {

if (stop - start '=0) words.push_back(data.substr(start, stop - start));

start = stop + symbol.size();
stop = data.find(symbol, start);

¥

if (start !=length) words.push_back(data.substr(start));

void print() { for (auto& s : words) cout <<'s << "#";

private:
string data;
vector <string> words;
int length;

h

void testPattern() {
Pattern p("this is a test");
Pattern g("that was so happle");
p-split(" );
p.print();
g.split("ha");
g-print();

int main() {
testPattern();
return O;

cout<<endl; }
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01 | abstract class Food {
02 public Food(int cal, String type) {
03 this.calorie = cal;
04 this.type = type;
05
06 abstract public void cook(int ¢);
07 public String show(int c) {
08 String result = type+":";
09 cook(c);
10 result += calorie;
11 return result;
12 }
13 protected int calorie; I +g2
14 private String type;
15 |3
16 | class Bread extends Food {
17 public Bread(int c, int a) {
18 super(c, "Bread");
19 additives = a;
20
21 public void cook(int cal) { calorie += additives*cal; }
22 private int additives;
23 [y
24 | class Beef extends Food {
25 public Beef(int c) {
26 super(c, "Beef");
27 condiments = c*2;
28
29 public void cook(int cal) { calorie += condiments%cal; }
gfl) private int condiments;
32 | class Anamial {
33 public Anamial(Food f) {food = f;}
34 public String getCal() { return food.show(2);  }
35 private Food food;
36
37 | public class FoodTest {
38 public static void main(String[] args) {
39 Food f1 = new Bread(3, 2);
40 Food f2 = new Bread(2, 3);
41 Food f3 = new Beef(3);
42 Anamial al = new Anamial(f1);
43 Anamial a2 = new Anamial(f2);
44 Anamial a3 = new Anamial(f3);
45 System.out.printin(al.getCal());
46 System.out.printIn(a2.getCal());
a7 System.out.printin(a3.getCal());
48 }
49 |}
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01 | #include <iostream>

02 | #include <string>

03 | #include <map>

04 | using namespace std;

05 | class Job {

06 | public:

07 Job(string _name, int _sa, int _sk) {

08 name = _name;

09 salary = _sa;

10 skill = _sk;

11 employee_name = "None";

12

13 string getName() { return name; }

14 int getSalary() { return salary; }

15 int getSkill() { return skill; }

16 void hire(string _name) { employee_name = _name; }
17 void print() { cout << name <<"::"<<employee_name<<endl; }
18 | private:

19 string name;

20 int salary;

21 int skill;

22 string employee_name;

23| h

24 | class Employee {

25 | public:

26 Employee(string _name, int _sa, int _sk) {

27 name = _name;

28 salary = _sa;

29 skill = _sk;

30 }

31 void match(Job *m) {

32 if ((m->getSalary() >= salary) && (skill >= m->getSkill())) {
33 candidate[m->getName()] = m;

34 }

35 }

36 void arrange() {

37 int score = 0;

38 Job *jb, *jb_wanted;

39 for (auto ¢ = candidate.begin(); ¢ != candidate.end(); ++c) {
40 jb = c->second; /I get value of MAP
41 if (jb->getSalary() >= score) {

42 score = jb->getSalary();

43 jb_wanted = jb;

44

45

46 jb_wanted->hire(name);

47

48 string getName() { return name; }

49 | private:

50 string name;

51 int salary;

52 int skill;

53 map <string, Job *> candidate;

541 %

55 | int main() {

56 Employee e1("Tom", 37, 85);

57 Employee e2(*"John", 35, 75);

58 Job jobs[] ={ new Job("RD", 45, 75), new Job("Sales", 35, 70),
59 new Job("Manager", 55, 80)};

60 for (int i=0; i<3; i++) el.match(jobs]i]);
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61 el.arrange();

62 for (int i=0; i<3; i++) e2.match(jobs[i]);
63 e2.arrange();

64 for (int i=0; i<3; i++) jobs[i]->print();
65 return O;

66 | }
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01 | #include <stdexcept>

02 | #include <iostream>

03 | #include <string>

04 | using namespace std;

05 | class Student{

06 | public:

07 Student(string n) { name = n; math_score = eng_score =average =0; }
08 void checkSmall(int s) {

09 if (s<0) throw out_of range(*'small");

10 cout<<"ok,";

11 3

12 void inpuScore(int m_s, inte_s) {

13 try {

14 checkSmall(m_s); checkSmall(e_s);
15 math_score =m_s;

16 eng_score = e_s;

17

18 catch(exception &e) { cout<<e.what()<<endl; }
19

20 void computeAverage(int n) {

21 try {

22 if (n<=0) throw out_of _range("zero");
23 average = (math_score+eng_score)/n;
24

25 catch(exception &e) { cout<<"exc"<<endl; }
26 catch(out_of range &e) { cout<<e.what()<<endl; }
27

28 void print() { cout << name <<":"<<average<<endl; }
29 | private:

30 int math_score; /| #% =~ %

31 inteng_score; // B2 24

32 int average; /I T a4

33 string name;

34|}

35 | void test01() {

36 Student stu("John");

37 stu.inpuScore(0, 0);

38 stu.inpuScore(100, -1);

39 stu.inpuScore(100, 90);

40 stu.print();

41 | }

42 | void test02() {

43 Student stu("Tom");

44 stu.inpuScore(100, 90);

45 stu.computeAverage(0);

46 stu.print();

47

48 | int main() {

49 test01();

50 test02();

51 return O;

52 | }




